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QUESTION 1

What is the interaction between CDP, ISDP, and LLDP when communicating configuration information from a Dell EMC
Campus networking switch to a Cisco VolP phone?

A. N-Series switches can be configured to use LLDP or CDP to communicate configuration information with Cisco
devices

B. N-Series switches can be configured to use only CDP to communicate configuration information with Cisco devices

C. N-Series switches can be configured to use ISDP or CDP to communicate configuration information with Cisco
devices

D. N-Series switches can be configured to use ISDP or LLDP to communicate configuration information with Cisco
devices

Correct Answer: D

QUESTION 2

If a group of routers are running VRRP with a virtual router ID of 155, which MAC address will be used to respond to the
ARP requests for the virtual IP?

A. 0000-5E00-0155
B. 0000-5E00-019B
C. 0001-5500-005E
D. 0001-9B00-005E

Correct Answer: B

QUESTION 3

What happens when a match is found for an ACL with 15 entries?

A. All packets which match that entry are forwarded

B. Action from that entry is performed and the rest of the entries in the ACL are processed
C. All packets which match that entry are dropped

D. Action from that entry is performed and the ACL is exited

Correct Answer: D

QUESTION 4
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Two switches are part of the same VRRP group with the following priorities configured:

Switchl: Priority 110

Switch2: Priority 90

Switch2 is required to be the Master if interface GigabitEthernet 0/2 on Switchl fails.

Which configuration should be part of the setup?

A. Switch1(conf-if-vlan10)# vrrp 1 track interface vlan 20 decrement 100 Switch1(conf-if-vlan10)# no vrrp 1 preempt
B. Switch2(conf-if-vlan10)# vrrp 1 track interface vlan 20 decrement 100 Switch2(conf-if-vlan10)# no vrrp 1 preempt
C. Switch1(conf-if-vlan10)# vrrp 1 track interface vlan 20 decrement 100 Switch1(conf-if-vlan10)# vrrp 1 preempt

D. Switch2(conf-if-vlan10)# vrrp 1 track interface vlan 20 decrement 100 Switch2(conf-if-vlan10)# vrrp 1 preempt

Correct Answer: C

QUESTION 5

An administrator just finished configuring a Dell EMC N-Series switch. After rebooting the switch, the administrator
notices that all the configuration settings just entered are gone.

Which command did the administrator fail to enter?
A. Copy running-config startup-config
B. Copy running-config backup-config
C. Copy startup-config backup-config
D. Copy startup-config running-config

Correct Answer: A
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